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s>D \uD s>VVD

1.	 9	khjj;jpw;Fk;	>	1	tUlj;jpw;Fk;	,ilNaahd	tpfpjj;ijf;	fhz;f

	 1	tUlk;		=	12	khjq;fs;

	 9	khjj;jpw;Fk;	12	khjj;jpw;Fk;	,ilNaahd		tpfpjk;	=	9:12

	 9:12	vd;gjid	
9

12
	vd	vOjyhk;

	 = 9 3 3
12 3 4
÷

=
÷

	
= 3:4

	

2.	 60	khzth;fs;	nfhz;l	xU	tFg;gpy;>	khzt>	khztpfSf;F	,ilNaahd	

tpfpjk;	2:1	vdpy;	mt;tFg;gpy;	khzt>	khztpfspd;	vz;zpf;if	ahJ?

	 nkhj;j	khzth;fs;		=	60

	 khzt	>	khztpfSf;fpilNaahd	cs;s	tpfpjk;	=	2	:1

	 nkhj;j	gFjp	=		2 + 1 = 3
	 khzth;fspd;	vz;zpf;if		=		 60,y;	2/3	gq;F

																																												 =		
2 60 40
3
× =

	 khzth;fspd;	vz;zpf;if	=			 40

	 khztpfspd;	vz;zpf;if		=			 nkhj;j	khzth;fs;	-	khzth;fspd;	vz;zpf;if	

						 	 	 	 	 =		 60	−	40
     =  20
3.	 24	kP	ePsKs;s	xU	hpg;gd;	3:2:7	vd;w	tpfpjj;jpy;	3	Jz;Lfshf	ntl;lg;gLfpwJ.	

vdpy;		xt;nthU	Jz;bd;	ePsk;	vd;d?

	 Hpg;gdpd;	ePsk;			 	 	 	 =		24	kP

	 %d;W	Jz;Lfspd;	tpfpjq;fs;		 =		3 : 2 : 7
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	 nkhj;j	gFjpfs;						 =  3 + 2 + 7 = 12

	 Kjy;	Jz;bd;	ePsk;			 =  3 24 6
12

× = kP

	 ,uz;lhk;	Jz;bd;	ePsk;		 =		  2 24 14
12

× = kP
2 24 14

12
× = kP

	 %d;whk;	Jz;bd;	ePsk;		 =		
7 24 14

12
× = kP

	 Hpg;gdpd;	%d;W	Jz;Lfspd;	ePsq;fs;	6kP>	4kP>	14	kP	MFk;.

4.	 xU	 tFg;gpy;	 cs;s	 khzt	 khztpfspd;	 tpfpjk;	 4	 :	 5	 khzth;fspd;	

vz;zpf;if	20	vdpy;>	khztpfspd;	vz;zpf;if	vd;d?

	 khzt>	khztpfspd;	tpfpjk;	4	:	5

	 khzth;fspd;	vz;zpf;if	=	20

	 khztfspd;	vz;zpf;if	=	vd;f

	 khzt>	khztpfspd;	vz;zpf;ifapd;	tpfpjk;		20 : x
	 4 : 5, 20 : x	,uz;Lk;	khzt>	khztpfisNa	Fwpf;fpwJ.

	 vdNt 4 : 5 :: 20 : x
	 <w;nwz;fspd;	ngUf;Fj;njhif				= 4 × x
	 ,il	vz;fspd;	ngUf;Fj;njhif	= 5 × 20
	 tpfpj	rkj;jpy;>	<w;iw	

	 vz;fspd;	ngUf;Fj;njhif		 =			 ,il	vz;fspd;	

	 	 	 	 	 	 	 	 ngUf;Fj;njhif

     4 × x  =   5 × 20 

     x =  5 20
4
×

                                                                   =  25  
	 										khztpfspd;	vz;zpf;if		 =   25
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5.	 A:B	=	4:6	,	B:C	=	�8:	5	vdpy;	A:B:C		apd;	tpfpjj;ijf;	fhz;f.

 A:B = 4:6
 B:C = 18:5
	 6,18	d;	kP.rp.k	 = 18
 A:B = 12 : 18
 B:C = 18:5
 A:B:C = 12:18:5

6.	 16	ngd;rpy;fspd;	tpiy	48	vdpy;>	4	ngd;rpy;fspd;	tpiyiaf;	fhz;f.

	 4	ngd;rpy;fspd;	tpiyia	a	vdf;	nfhs;Nthk;

	 ngd;rpy;fspd;	vz;zpf;if		 tpiy

          x     y
        16      48
          4     a
	 ngd;rpy;fspd;	vz;zpf;if	Fiwe;jhy;	 (↓)>	mjd;	tpiyAk;	 	FiwAk;	 (↓)	vdNt		

,e;j	,U	msTk;	Neh;	khwypy;	cs;sd.	

	 Neh;khwypy;>		
x
y
= 	khwpyp	vd;gJ	ehk;		mwpe;jNj

	

16 4
48 a

=

        16 × a  =   48 × 4

                 a =   48 4 12
16
×

=

ehd;F	ngd;rpy;fspd;	tpiy	=	12

7.	 xU	kfpOe;J	360	fpNyh	kPl;lh;	J}uj;ij	4	kzp	Neuj;jpy;	flf;fpd;wJ.	mNj	

Ntfj;jpy;	 kpfOe;J	 nry;Yk;	 nghOJ>	 6	 kzp	 30	 epkplq;fspy;	 vt;tsT	

J}uj;ijf;	flf;Fk;.

	
16
2

	kzp	Neuj;jpy;	fle;j	J}uj;ij	a	vd;W	Fwpg;gpLNthk;

	 Neuk;	(kzp)	 	 	 	 gazpj;jNeuk;	(fp.kP)

	 				x	 	 	 	 	 			y
	 				4	 	 	 	 	 360

	 		
16
2

	 	 	 	 	 			a

%d;W tpfpjq;fis xg;gpl Kjy; tpfpjj;jpd; 

,uz;lhtJ cWg;igAk; (gpd; epfo; cWg;G)> 

,uz;lhk; tpfpjj;jpd; Kjy; cWg;igAk; 

(Kd; epfo; cWg;G) rkkhf;f Ntz;Lk;.
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	 gaz	Neuk;	mjpfhpj;jhy;	(↑)>	gazpj;j	J}uKk;	mjpfhpf;Fk;		(↑)		vdNt		,J	Neh;khwy;	

	 Neh;khwypy;>	
x
y
= 	khwpyp	

	 	
4

360
		 = 

1
26

a
  4 × a  =  1360 6

2
×

               4 × a  =  13360
2

×

                     a  =  585

	
16
2

	kzp	Neuj;jpy;	gazpj;j	J}uk;		=	585	fp.kP	

8.	 7	Ml;fs;	xU	Ntiyia	52	ehl;fspy;	nra;J	Kbf;fpd;wdh;.	mNj	Ntiyia	

13	Ml;fs;	vj;jid	ehl;fspy;	nra;J	Kbg;ghh;fs;?	

	 fz;Lgpbf;f		Ntz;ba	ehl;fspd;	vz;zpf;if	a	vd;W	Fwpg;gpLNthk;.

	 Ml;fspd;	vz;zpf;if	 	 	 ehl;fspd;	vz;zpf;if

            x       y
            7                    52
              13              a
	 Ml;fspd;	vz;zpf;if	mjpfhpf;Fk;	(↑)>	ehl;fspd;	vz;zpf;if	FiwAk;	(↑)	vdNt		

,J	vjph;khwy;.	

	 vjph;;khwypy;>	x y =	khwpyp	

																7 × 52  =  13 × a 

                 a  =   7 52
13
×

                 a  =  28
	 vdNt>	13	Ml;fs;	,e;j	Ntiyia	28	ehl;fspy;	Kbg;ghh;fs;
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9.	 xt;nthU	gf;fj;jpYk;	35	thpfisf;	nfhz;l	Gj;jfj;jpd;	nkhj;j	gf;fq;fs;	

120.	mNj	nra;jp	xt;nthU	gf;fj;jpYk;		24	thpfshf	,Ue;jhy;>	Gj;jfj;jpd;	

nkhj;j	gf;fq;fs;	vt;tsthf	,Uf;Fk;?

	 fz;Lgpbf;f	Ntz;ba	gf;fq;fspd;	vz;zpf;ifia	a	vd;W	Fwpg;gpLNthk;

	 xt;nthU	gf;fj;jpYk;	cs;s		 	 	 nkhj;j	gf;fq;fspd;	

	 thpfspd;	vz;zpf;if		 	 	 	 vz;zpf;if

            35       120
            24       a
	 xU	 gf;fj;jpy;;	 thpfspd;	 vz;zpf;if	 FiwAk;	 (↓)>	 vz;zpf;if	 FiwAk;	 (↓)		

vdNt		nghOJ	Gj;jfj;jpy;	gf;fq;fspd;	vz;zpf;if	mjpfhpf;fpwJ	↑		vdNt	,J	

vjph;khwy;

	 vjph;;khwypy;>	x y   =	 khwpyp	

                           3 × 120   =  a × 24

   a  =   35 120
24
×

   a  =  35× 5
   a  =  175 
	 xU	 gf;fj;jpy;	 24	 thpfs;	 ,Uf;Fk;	 nghOJ	 Gj;jfj;jpd;	 nkhj;j	 gf;fq;fspd;	

vz;zpf;if	=	175	

10.	 a	:	b	=	5	:	9 kw;Wk;	b	:	C	=	4	:	7	vdpy;	a	:	b	:	C	fhz;f.

	 jPh;T

	 a : b : c  =   

a : b : c
5 : 9 : 9
4 : 4 : 7
20 : 36 : 63
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12.	 a	:	b	=	5	:	7 kw;Wk;	b	:	c	=	6:��	vdpy;	a	:	b	:	c	fhz;f:

	 jPh;T

	 a : b : c  =   

a : b : c
5 : 7 : 7
6 : 6 : 11
30 : 42 : 77

13.	 a	:	b	=	�	:	4 kw;Wk;	b	:	c	=	8:9	vdpy;	a	:	c	fhz;f:

	 jPh;T

	  

a : b : c
3 : 4 : 4
8 : 8 : 9
24 : 32 : 36   

a : b : c
24 : 32 : 36
a : c  =  24 : 36
a : c = 2 : 3

14.	 A	:	B		=	�	:	�,	B	:	C	=	4	:	5,	C	:	D	=	6	:	7 vdpy;	A	:	B	:	C	:	D		fhz;f:
	 jPh;T

	

A : B : C : D
2 : 3 : 3 : 3
4 : 4 : 5 : 5
6 : 6 : 6 : 7
48 : 72 : 90 : 105

	 A : B : C : D = 16 : 24 : 30 : 35

15.	 A	:	B		=	8	:	�5,	B	:	C	=	5	:	8,	kw;Wk;	C	:	D	=	4	:	5		vdpy;	A	:	D	-	d;	kjpg;G	fhz;f:
	 jPh;T

	

A : B : C : D
8 : 15 : 15 : 15
5 : 5 : 8 : 8
4 : 4 : 4 : 5
160 : 300 : 480 : 600

  A : D
160 :    600
4 :      15  =  A   :   D
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16.	
� � �a = , b = , c =
� � 4

	vdpy;	a	:	b	:	c	fhz;f:

	 jPh;T

	 A : B : C

 1
3

 : 
1
2

 : 
1
4

	 gFjpapy;	,Uf;Fk;	vz;fSf;F	(3>	2>	4)	LCM fhz;f

	

2 3, 2, 4
3,1, 2

	
	 6 × 2 = 12

 
1 1 112 12 12
3 2 4

: :× × ×

	 4   :  6   :  3

16.	 �A		=	�B		=		4C	vdpy;	A	:	B	:	C	fhz;f:

	 jPh;T

	

2 1A : A : A
3 2

	

2B A
3

=

	

2A 1C A
4 2

= =

	

2 11 : :
3 2

	 3 , 2 kP.rp.k	= 6

 A : B : C  = 6 : 4 : 3
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17.	 a b c= =
� 4 7

	vdpy;	 a + b + c
c

	kjpg;G	fhz;f:

	 jPh;T

	

3, 4, 7
3 4 7

3 4 7 14 2
7 7

a b c a b c

a b c
c

= = ⇒ = = =

+ + + +
= = =

18.	 x	:	y		=		�	:	4	vdpy;	(4x	+	5y)	:	(5x	–	�y)	fhz;f:

	 jPh;T

 x = 3, y = 4 vd	gpujpapl

	 (4(3)	+	5(4))	 :	 (5(3)	–	2(4))

	 (12	+	20)	 :	 (15	–	8)

  32 : 7

19.	 (�	:	�),	(�	:	4),	(4	:	5)	(5	:	6)	$l;;L	tpfpjk;	fhz;f:

	 jPh;T

	
2 3 4 5 2 1 1:3
3 4 5 6 6 3
× × × = = =

20.	 (�	:	�),	(6	:	��)	kw;Wk;	(��	:	�)	$l;;L	tpfpjk;	fhz;f:

	 jPh;T

	

2 6 11 2 2 :1
3 11 2 1
× × = =



9

A]\

21.	 0.08		kw;Wk;	0.�8	Mfpatw;wpw;F	,ilNaAs;s	ruhrhp	tpfpjk;	fhz;f:

	 jPh;T

= 0.08 0.18×

= 8 18
100 100

×

= 144
100 100×

= 12
100

= 0.12

22.	 4,	9,	��		Mfpatw;wpd;	ehd;fhtJ	tpfpjk;	fhz;f:

	 jPh;T

4 : 9 : 12 : x
4 12
9 x

=

4x = 12 × 9
x = 27

23.	 5,	8,	�5		Mfpatw;wpd;	ehd;fhtJ	tpfpjk;	fhz;f:

	 jPh;T

5 : 8 : 15 : x
5 15
8 x

=

5x = 8 × 15
x = 24
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24.	 �6,	�6		Mfpatw;wpd;	%d;whtJ	tpfpjk;	fhz;f:

	 jPh;T

16 : 36 : 36 : x
16 36
36 x

=

16x = 36 × 36
x = 81

25.	 0.�6		kw;Wk;	0.48	Mfpatw;wpd;	%d;whtJ	tpfpjk;	fhz;f:

	 jPh;T

0.36 : 0.48 : 0.48 : x
0.36 0.48
0.48 x

=

x = 0.64

26.	 (x� − y�)		kw;Wk;	(x − y) Mfpatw;wpd;	%d;whtJ	tpfpjk;	fhz;f:

	 jPh;T

(x2 – y2)	:	(x	–	y)	:	(x	–	y)		:		x
2 2

(x y)
x y x y

x
− −

=
−

( )( )
( )( )
x y x yx
x y x y

x yx
x y

− −
=

− +
−

=
+ 	

27.	 �	:	4		vd;gjd;	,Ugb	tpfpjk;	fhz;f:

	 jPh;T

	 3 : 4 = 32 : 42

  = 9 : 16
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28.	 5	:	6		vd;gjd;	Kg;gb	tpfpjk;	fhz;f:

	 jPh;T

	 5 : 6 = 53 : 63

  = 125 : 216

29.	 49	:	�5		vd;gjd;	th;f;f%yk;	fhz;f:

	 jPh;T

	 49 : 6 = 49  : 25
  = 7 : 5

30.	 �4�	:	5��		vd;gjd;	fz%yk;	fhz;f:

	 jPh;T

	 343 : 512 = 3 343  : 3 512
  = 7 : 8

  


